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numl = int(input("Enter a number:"))
print(bin(num1))
print(oct(num1l))
print(hex(num1l))
print(chr(numl))
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n = int(input("Enter a number:"))
ifn<0:
n=-n
print( nn))
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n = int(input("Enter a number:"))

ifn%2=—1:
print("Odd")
else: L3395 34 n

print("Even")
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val = input("Enter a number:");
val = int(val)

ifval> 0 : sde 5 and, val
print ("Entered value is positive") .y

elif val == 0: Sos
print ("Entered value is zero") '

else:

print ("Entered value is negative")
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Enter a number:-12
Entered value 1s negative
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2= 2*a
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a = int(input("Enter a:'))
b = int(input("Enter b:"))
¢ = int(input("Enter c:"))
delta=b**2-4%a*c
if delta < 0:
print("Not root")
elif delta ==0:
print(" x1 =x2=",-b/ (2.0 * a))
else:
print(" x1 =", (-b + delta ** 0.5) / (2.0 * a))
print(" x2 =", (-b - delta ** 0.5) / (2.0 * a))
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Enter a:2
Enter b:4

Enter c:2
xl=x2= -1.0
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